N = 0l & AF & F Al A

20128 & 204 ot=S ALY SE3IA(SI1Y) & X

SA BEAYL
B Sacael
Crol: SACEHIUSNRE (B TAY SEEH(2I12)) R
_ _ _ Muo
SA - BE - BA(EA) - NRAY - BES 0 &t o4 i HREY
IRE N RN 9,530,273 3,235,446 6,294,827
= 2,836,000
| 345,000
Al 6,349,273
ot 2tel 1,691,626 3,021,010 A~ 1,329,384
= 806,000
Al 885,626
St HHIY R X2 (ot AtE SE3H(S01Y)) 440,626 2,317,010 A 1,876,384
ot ELEAY 200,000 200,000 0
401 A& HIZ 2 CHYI 200,000 200,000 0
01 Al£HI 198,560 198,560 0
Ost=E 24 (4 - 5H8H7])
200,000,000& * 99.28% 198,560
03 A& 20| 1,440 1,440 0
Odt=E&4 S0l 200,000, 000& *0.72% 1,440
ot=ZEHIALS 150,000 1,900,000 A 1,750,000
401 A& Bl 2 CHHI 150,000 1,900,000 A 1,750,000
01 A& HI 148,920 1,892,440 21,743,520
Odt=k 228> 150,000, 000& * 99.28% 148,920
03 A€ =01 1,080 7,560 26,480
Ostaz222+ 20l
150,000,000& = 0.72% 1,080
ot=ERA2cE8 N2 38,366 45,500 AT,134
206 =l 38,366 45,500 AT,134
01 HZ 4l 38,366 45,500 ANT,134
Oot=ERNE+E HMHFL 38,366
£ 212301 € (400+500+50)
32,700& * 15004 4,905
Q=== (D=900) 425,400 = 1004 4,254
Q==& Il (D=648) 263,000& = 304 7,890
2 ==2+0] (D=300) 260,600& * 30K 7,818
2+ &l o = 5 2 (1000% 1000%50)
375,500& = 10K 3,755
23 4 2 5 2 (600%600+50)
192,900& = 200K 3,858
251 0 & 5 2 (700+700+50)
294,300& * 200K 5,886
St mil2e|YE = 52,260 171,510 A 119,250
201 et A | 50,180 69,750 219,570
01 At 2teltl 33,280 62,250 228,970
OFAEE NI 6,380




A SEAEAL
Za: giagael
tel: St UYL R ZEl (ot A Y SEIAH(SI1Y)) (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
= s NlFAIE - 5SS o= 04| AFOH 1Lss
2REL (3N TS, K M)
280,000 3433 2,520
SWE 195,000& *1JH x4 3| 780
STy AN EH 290,000 «10H*43] 1,160
SAD|EUHs= 160,000& = 1CH*12& 1,920
Ogxad A84 57 ¢ 18,500
Ul (KT, E3301) 2,000
SteSEAXE 212 YR (FOS)
2,500,000& * 62l 15,000
StEmlEs2td A8H 57 7Y 1,500
Odt=ERXNE=EXE 2eldl 8,400
e s S 600,000& = 123 7,200
et 2l 300,000& * 43| 1,200
02 2324l 16,900 7,500 9,400
OSHEZZ AMEEH |
1,500,000& * 23| » 3044 9,000
OndEEg L AAMES 700
HHEBEZ 500,000& =1CH 500
FANE L SHERES 200,000« 1CH 200
Oot=ESHEEZE HIIR3
600,000& = 12& 7,200
202 (44| 2,080 1,760 320
01 =2 U A bl 2,080 1,760 320
O 2 &H P2FEA 2Uy0iH|
1,040,000& x2H 2,080
St HEUIAIY (St At SE3IH(S019)) 857,000 0 857,000
= 600,000
Al 257,000
ot=2t HEHIALS 857,000 0 857,000
= 600,000
Al 257,000
401 A& Bl 2 CHHI 857,000 0 857,000
= 600,000
Al 257,000
01 A& HI 750,830 0 750,830
OL2ot=2HEHAY 750,830
= 600,000
Al 150,830
02 Zeltl 100,000 0 100,000
O 2ot=21F A 22ldl 100,000
03 Al & 2CHHI 6,170 0 6,170
Ogdot=2HEHIAE R0l 6,170
OlSot=S At (St S ALY SE3H(S01Y)) 394,000 0 394,000
= 206,000




SN BBAEA
I SR
©H2l: DSl SAI (SH SAIY SEEIH(BIIY)) (S &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
Al 188,000
OS5t G & X AMY 394,000 0 394,000
= 206,000
Al 188,000
401 Al HI L2 OHH| 394,000 0 394,000
= 206,000
Al 188,000
01 Al &t 391,884 0 391,884
O BEAL 0I25t4E SXAY 291,884
= 206,000
Al 85,884
OZ OIS Gt E AT AL 100,000
03 Al &S CHH| 2,116 0 2,116
OREAI OS54 E X 20| 2,116
BAIZALSY 5,933,893 0 5,933,893
= 2,030,000
p 345,000
Al 3,558,893
SRSt HAL2Y (G EAY SHEIH(2I1Y)) 4,524,008 0 4,524,008
= 1,400,000
Al 3,124,008
StamelAe 2 4,524,008 0 4,524,008
= 1,400,000
Al 3,124,008
101 Q124 H| 4,117 0 4,117
04 JIZR2ERS B4 4,117 0 4,117
OJIAMIZRE B4 4,117
AHAU EB4 2el
60,5409 * 2 * 102 1,211
SteEn MR HES Fa
60,5402 * 29 * 22 * 122 2,906
201 et | 1,176,511 0 1,176,511
01 AtR 22t 17,816 0 17,816
OZglf EHY 2Z7¢ 9,816
ZYERE E4  352,0008 * 44 * 23 2,816
SOHRIE £ 250,0008 * 14 * 43 1,000
SAD| Xzl 500, 000! *33] 1,500
SNEXNS AREE 7Y
1,500,000 *33] 4,500
OIS (Rg=, 3Y) 3,000
OZZHI(0I2Y HIAZ2R) 5,000
02 BB 1,158,695 0 1,158,695
ozl 1,158,695




SN BAAYL
HH: sAI ALY
Sl RIS HEANLRSY(BHETAY SBM(BIIY)) (25l &2
HEE =
SN - EFH - SA(SAH) - MFA B & Off &F K Ol A o8 BluEs
Y EEEPILEE
15, 000kh*3652! B0 438,000
JRGESANMIAL ®II23
2,600kwh*3352 <80 69,680
SRS S XM AL PG AISE
1,34021%33521 +1,350ke 606,015
NEETIENE] 41,000
AR 22l 4,000
203 YL =T 3,000 3,000
03 AR =R RFZH| 3,000 3,000
OIS AR ZT 3,000
206 T2t 129,880 29,880
01 HEHI 129,880 129,880
Odt+HelZ NE2 RN24 HHTY
500, 00021 205 10,000
ONENSTHPY (E4S)
4,800%! 15k g+3652 26,280
OSTH RY(SAX2IAE)
13021 %3,000kg=2402! 93,600
207 & ROH L bl 22,000 22,000
CEEET] 22,000 22,000
OaB A 2Y 200,000% *355 +25] 14,000
ONEEX P 200, 000! *20% *23| 8,000
301 B A3 1,500 1,500
12 JIEtR &2 1,500 1,500
O2L+d - 28tHel 193
15,000,0002 *10/100 1,500
307 21201 & 527,500 527,500
05 BI2teIEr2 527,500 527,500
O+Z=FII(TMS) E2AA  6,500,0008 13l 6,500
O£EEFII(TNS) SI2FIE 3,000,008 122 36,000
OL@cH+M2Y 43 J&uL
60,000, 00021 * 14! 60,000
OLARHIAL QUASIE 50,0002 +8,500S 425,000
401 Al &HIL S THY| 2,624,500 2,624,500
= 1,400,000
Al 1,224,500
01 Al&H] 2,473,682 2,473,682
OXIYZ OHLY 2+ & X (5000%1500%300)
10,000,002 * 14} 10,000
OR2IS 2% SLZA 10,0008 * 3,850m 38,500
OURES ZHTA 10,000,0002 * 14} 10,000




SN BAALL
H: stH)|ZALE2Y
SR HRSIEMHeAIE 2L (o= AIY SE3AH(Z01€)) (&2 &
- _ _ SN E N
2N -3 - c2(3H) - NEME - HES 0 Ak oH @Eiﬁ Hon=s2t
Ot X HIA R (D0, HP,MLSS)
4,000,000 x243| 96,000
ORUE EAK =4 5,000,000& 43 20,000
OUR2 W ASI| WHSA
10,000, 000! » 14! 10,000
OddXeld “FAIE WA
1,400,000, 00024 *99..64% 1,394,960
= 700,000
Al 694,960
Ogdxeld SAXlAEAS
860,000,000 *99.37% 854,582
2 700,000
Al 154,582
OEAANSA XA JI24 ARH(3.4km)
40,000,000 99 1% 39,640
02 22/ ] 140,000 0 140,000
OY 2| & ZoIHMa|Al&Arg 22| 140,000
03 Al & 20t 10,818 0 10,818
O3 el “FAIE WA 20l
1,400,000, 0002 *0. 36% 5,040
Ogdxeld SAXlAEAH
860,000,000 *0 . 63% 5,418
OEAANL A RNAZ IIZ2 A TH(3.4km)
40,000, 0002 0. 90% 360
405 KHAHE S 35,000 0 35,000
01 MM L2EF SH] 35,000 0 35,000
ObdtHel& X 282 AJ20H 7Y
35,000,000 *1CH 35,000
22 - 08 SleHelAld 2 (=T AIY SEIH(2 1,096,410 0 1,096,410
1))
=2 630,000
Jl 313,000
Al 153,410
22 - 2L HelANE 29 1,096,410 0 1,096,410
=2 630,000
7l 313,000
Al 153,410
101 Q1 244| 1,210 0 1,210
7l 1,210
04 JI2H2R2USES 1,210 0 1,210
OM=&gY o2 1,210
7l 1,210
201 LEt2 A | 119,600 0 119,600
7l 119,600
01 At 22l 2,000 2,000
Ot 2,000




SN BAALL
HE: BAIEALLY
B9 220 SAH2AE SY(GHHEAY SHIM(BI1Y)) (S5 &)
_ - HEE =
N EH .o (300) - HRAY - BYS 0l ot o =
] 2,000
02 BB S| 117,600 117,600
ozzegl 117,600
z3e3 3,000,0002!+ 122 36,000
| 36,000
NEEETEE A 5,800,0002! * 122 69,600
| 69,600
AR 1,000, 00021 +12% 1 H 12,000
] 2,000
202 048 20,000 20,000
] 20,000
NETLL 20,000 20,000
O=2%g - g st4H2l0lt| 20,000
9] 20,000
307 21201 & 55,600 55,600
| 38, 190
Al 17,410
05 Q12913 55,600 55,600
OSSN AES JUR
6,500, 00021 +14} 6,500
| 6,500
OoHIZ NES HUX
6,500, 00021 *14} 6,500
| 6,500
O - o8 224X Heltl
120,000 * 15E *12% 21,600
| 21,600
0L SHNAY 2% 293
21,000, 0002 * 141 21,000
| 3,590
Al 17,410
401 Al EHIL 2 THb| 900,000 900,000
= 630,000
9] 134,000
Al 136,000
01 Al& | 893,520 893,520
OSZH2IT NES HTAY
450,000, 0002 +99. 268% 446,760
= 315,000
o] 94,000
Al 37,760
OQIHEIZ ANES WA
450,000, 0002 +99. 268% 446,760
= 315,000
| 40,000
Al 91,760
03 Al& =2 ChH] 6,480 6,480




SN BAALL
i BYIEALSY
o9l 2208 saHelAE 2Y(GHHETAY SHIH(SIY)) (25l &2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OS=2H2E NE2 HBAY 20
450,000,000 %0.72% 3,240
OQBH2IZ ANES HBAMY 2Ot
450,000, 00021 %0.72% 3,240
DISSH+HRIAIE 2 (GH4TAY SEaH(SI1Y)) 313,475 0 313,475
| 32,000
Al 281,475
GESALAGEHUAL 29 32,000 0 32,000
| 32,000
201 Yer gt 32,000 0 32,000
| 32,000
02 232l 32,000 0 32,000
OARBELHENE BB
1,250,0002 * 122 15,000
| 15,000
OARDELH2INE ALZHIRA] 17,000
| 17,000
ARBEEHRIAE 2Y 281,475 0 281,475
101 Q1248 6,055 0 6,055
04 JAR22RES S 6,055 0 6,055
OARBO+HRIAE HMESY 0122l (6004)
60, 54021 +30% *23] 3,633
OARDELHRIAE BHA
60,5402 x20% *23] 2,422
201 Yeregt| 222,000 0 222,000
02 B2 222,000 0 222,000
OBZ23("I|, 54 E)
250, 0009 +607H 4 * 1224 180,000
OAlEZHIRXIHI 50,0002 6074 4 102 30,000
OARDESHEIAE RHEH|
1,000, 0002 %122 12,000
206 T 2 bl 600 0 600
01 T2 b 600 0 600
OARADT+HEIZ RX2S HHPY
10,0002 *607H £ 600
307 21201 & 41,820 41,820
05 812192 41,820 41,820
ODIZstaHelR JILHEHSE, SF)
10,560,0002 x27H 2 21,120
On2steHelE AMSH |
11,5002 +607H 2 *30K | 20,700
401 A2 HIL 2O 10,000 10,000
01 Al& Y| 10,000 10,000




SA: AL
HH: SAIZANERE
ttel: DiSot=XelAE 2 (ot=Z A SE3AH(371Y)) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OJlzaldol e MM (REDIIER) - &
.= 5,000,000 »2CH 10,000
405 AHakF S 1,000 0 1,000
01 A&t =S EF SHI 1,000 0 1,000
OHIIEEl HIAEI 7Y 1,000
HH2IZHI (BB AEA) 1,707,594 140,282 1,567,312
QIAREH| (St At SEAH(301Y)) 1,617,990 100,672 1,517,318
el 2 1,617,990 100,672 1,517,318
101 el A Hl 1,398,774 100,672 1,298, 102
01 2= 1,121,858 0 1,121,858
oJlzs 744,108
. 5= 3,698,200 x 1«12 44,379
. 62(gerJlsE) 3,116,900 x4 » 128 149,612
72(L8IIS%)  2,474,300& x 118128 326,608
. 8=(deh JIsA) 1,791,000& x5H « 123 107,460
.93 (ger dIsH) 1,781,500& »3H 123 64,134
da2=E 692, 193,000& =1/ 12%90% 51,915
O=¢ 251,862
ANt 2 Rg 101,717
55 10,4863 * 12 «50A| 2t 123 «80% 5,034
-6= (28 IIsA)
8,943 +4H x50 Al 2tx 12 x80% 17,171
-72(get IIs3)
8,078& x 112 x50 Al 2k 12 %80% 42,652
-8= (et JIsH)
7,252 x5 B x50 A| 2k 12& 21,756
9= (L8 IIsH)
6,555 x3H +50Al 2tx 12 11,799
~Z AR (HO0E A2 2)
8,262% x5F x4 A| 2H+20L 3,305
FLI2RE(H0HHE2R)
60,8533 x5 14 4,260
g2 26,040
- 32I3 23,520
2040 & 100,000 118« 123 13,200
15~204 80,0003 «6H 12 5,760
10~154 60,000 x3E 122 2,160
5~10 50,000 x4H *12& 2,400
-d2sg == 2,520
20~25¢ 10,0002 x6& » 12 720
25E 0 & 30,0003 x5 =122 1,800
=g 14,880
45 50,000 x24H » 123 14,400
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A SEAIE A
M HESAAH (BIAIYL)
Sl QARSI (BHATAY SBEM(BIIY)) (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
-MNsA2&E 40,000& x1H*12& 480
P 43,200
ot ANEI2R A
150,000 x24H x 12& 43,200
HRsRI_Y 27,758
-4= 3,698,200& x 1 x12& x4 . 8% 2,131
-5z 3,100,000 x4H x12& x4 . 8% 7,143
62U 2,480,000 x8H x12& x4 . 8% 11,428
= 1,750,000& »7H * 128 %4 .8% 7,056
IE=E 21,600
-bH S At 40,0003 x20H *12& 9,600
-2UIE 20,000& x50 = 12& 12,000
PNIE R R = 443, 1003 x7H x4 3| 12,407
Od Mz A 130,000 x24H « 12& 37,440
OYZE S ItH| 692,193,000 x1/12%120% 69,220
OAHIIB AtH| 692, 193,000& *x1/12%1/30%x10 19,228
02 JIEt& 2 % 90,881 0 90,881
(OPIE== 63,468
HAZ 2,460,000& x2H x12& 59,040
324 59,040,000 *1/12%x90% 4,428
oY 8,877
NEEE RS,
6,911 & 2«50 Al 2tx12& *80% 6,635
FUA2RLY(BOAHIN2R)
52,065& x2H*10 1,042
AE>H(2LSB) 50,000& x2H «12& 1,200
o82+Y 2,880
HI2ONN2 2,400
=20 Ol &t 100,000& x2H = 12& 2,400
202 480
-20~254 10,0003 *1H =122 120
254 0| &t 30,000& x1H = 12& 360
O&ds=H 3,600
ot Xl &2 2 At 150,000& x2H = 12& 3,600
ONEsE 1,440
Bl < Xt 40,000& x 14 «12& 480
EeIE 20,000& x4H = 12& 960
OFAHZGAH| 130,000& »2H «12& 3,120
OYZE S| 58,560,000& *1/12%120% 5,856
OAHIIB AtH| 59,040,000& *1/12%1/30% 10! 1,640
03 RIHAZZ A 186,035 100,672 85,363
Ostd0l et (2H) 73,387
2s 1,058,080& »2H «12& 25,394
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SN
X XH .
S Tt

el

22
J2

H RN A 25,393,920 «1.6% 407
Jlgag 1,628,080 2! +2% x200% 6.513
¥asg 1,628,080 x2% *40%+23] 2,605
=L 1,628, 0802 *2 % 250% 8,141
Eag 1,440
-t 2 Xt 40,0002 22 « 128 960
- YIS 20,0008 «2% 128 480
S4eay 90,0008 x2% 128 2,160
solEp ey 70,0008 <2 128 1,680
Houg Al 160, 0002 x2% * 128 3.840
I = 110,0002 +2% 128 2,640
WELEH| 140,0002 »2% 128 3,360
=E=EBJL] 1,628,0802 *22 *120% 3,908
NEITIES=! 7,204 22 *10A| 2+ 122 1,729
o224y 86,4482 x2% x32 * 128 6.225
o1t At 57,6328 x2% 162 1,845
KA (1) 300,000 1% x43] 1,200
I = 150,00021 +2% 300
FH -2 AA2AHI(3Y) 100,773
e 1,349, 3302 «3% 128 48,576
4012 48,575,880 / 128 x400% 16,192
WELEH| 120,0008! *3% * 128 4,320
ERNEE] 130,0008! x3% * 128 4,680
A2te 224 gt
7, 771213 % 15A] 2b« 158l » 122 6.295
=E=ESJL] 1,349, 330 2! x3% * 120% 4,858
524324y 62,1683 *1.5H1x3Y*15Y 4,197
o ob A 62, 1682 x3% x20Y 3,731
ZEotAS (B2 16E) 2,820
ISR (HSI2, 222, XHH4) 2,400
SHHI2 X4+ (DSEM2) 2,704
OFESHYLAEA AL AZ2(2011H) 2,700
O4EE= 9,175
Ioezega 100,769, 7302 *4.5% 4,535
AYPEL3 100,769, 73021 +2.82% 2,842
COFIEHEEYT  2,841,706%+6.55% 187
InE=1-LEA= 100,769, 7302 *1.4% 1,411
MHEEE 200
L 69,540
AUI A2 HA| 1,200
OXMIA2 LAY 100,0008! x 1% * 128 1,200
HZe x| 40,260
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A SF3AE A
HH: HH2AAH (SIS L)
el olARIGHI (St ALY SEIAH(301e)) (98

: _ o HEC -
N EH - S2A(3H) - MRAE - BES Aol Ofl At ot Hws2
SEELES 40,260
532 250,000% 12+ 128 3,000
62 155,000 %42+ 122 7,440
73 140,008 +8% * 122 13,440
892 105,002+ 112+ 122 13,860
e 105,0002 x223 128 2,520
03 SH LA 28,080 0 28,080
oszYeLY 28,080
=SIEEIY 80,0002 242 « 128 23,040
Ay @It
80,0002 * 1%+ 128 960
o - 2 & 80,0002 * 1% * 128 960
Kot 2t 80,0002 %1% * 128 960
223y
80,0002 %1% * 128 960
2I1¢ =k
30,0002 *2% * 128 720
e es 20,0002 x2% « 128 480
304 H2RL2ES 149,676 0 149,676
JEEEES 149,676 0 149,676
oslzegz 84,893
RIES 1,121,858,0002 7% 78,531
e 90,881, 00021 +7% 6,362
OZRLRHI 1,212,739,0002 2. 337% 28,342
OALSPEHZ LY 1,212,739,000 «2.82% 34,200
OLUEIQURE 23
34,200, 00021 +6.. 5% 2,241
|22 (BT AY SEEIA(2I19)) 89,604 39,610 49,994
p[CE-TE 89,604 39,610 49,994
201 YBr2 | 59,500 35,290 24,210
01 A2 22l 51,100 29,340 21,760
oY 2g 50,0002 %224 1162 1,600
Oxx4g 50,0002 224 x3652 36,500
Oyl 3,000
02 B2 8,400 5,950 2,450
02ze3 ¥ 5,000
Odt+E &3l 3,400
202 01 bl 21,524 4,320 17,204
01 2L 0i b 21,524 4,320 17,204
Odl% - 2LHdP = 21,524
203 YR E=TY| 8,580 0 8,580
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SN BAALL
HH: HHSAFU(FZALL)
et I (ST A S5 (2012)) (el &2
_ - HEE =
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 IR 2YHR=ZY| 3,300 0 3,300
Ol YRR =AY 3,300
02 HRAItar 2 E Y| 1,080 0 1,080
OF MR ETY) 40,0002 x272 1,080
M4 2N2YHREEY| 4,200 0 4,200
ORN2YYLETY) 4,200
SIETHUTE 25 197, 160 74, 154 123,006
SlE MRS (BT AY S (2IIe)) 197, 160 74, 154 123,006
SRS 9,727 0 94,727
201 YEr2gy| 56,827 0 56,827
01 A2 22l 39,677 0 39,677
OBl +TABR B4R 25 4,605
Su3) Belg ¥2PY 50,0008 « 5 250
SIaTARE DXNNEN 2
80,0008 * 208t A 1,600
DNNLEE LESERY
502 * 18,70004 935
DNNLESRE NREE 7Y
500, 00021 %14} 500
DNMESE TRE EHPY(SH)
330, 00024 #47H 1,320
OUBIIEYR 2423
5,000, 0002 *2%+ 122 1,200
OBt4+E HEI| XYL X 22 8,000
AT L OISR OHAE)
60,0002 * 507K 3,000
HEIDH L SHARBONLY)
50,0002 * 10074 4 5,000
OBt +ZAIBE M4 24B2NZ(HLES
35/7) 1,293,600,0002 * 2% 25,872
02 222l 17,150 0 17,150
OBt +EYLEY 2RI 2,550
SHRI (V) 2502 * 5005 * 128 1,500
SERI(SI) DAL DEH LI
1,75020 * 505 * 128 1,050
OAN&RH STl 14,600
S83 2 SENA T2IY |KT2
11,000, 00024 % 14! 11,000
MEIICHS TR0 STl
300, 00024+ 122 3,600
202 048 2,400 0 2,400
01 20l bl 2,400 0 2,400
ool 2,400
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2A: EBEAEA
FH: ot HAA &5
o ot NYMIES (ST AtY SEIH(371E)) (S :®2)
S . "M . O (5 HEAY . B2 Al OH HEE Hl =2+
St=SAEE MYX B+=d Ol (AAl)
20,0003 *» 2% » 52 » 123 2,400
206 M Z 8l 9,000 0 9,000
01 MZHl 9,000 0 9,000
Odt== T HSI| 7 (AlIZHA) 60, 000& * 1504 9,000
207 A PO d| 25,000 0 25,000
01 22 E 9| 25,000 0 25,000
Oot=S2AINATHEOIIY JADMAE (SEH
25,000,000& = 14 25,000
405 RHekFE S HI 1,500 0 1,500
01 AL =S F=HI 1,500 0 1,500
OXBALEHI| 2L (HIMI])
1,500,000 *1CH 1,500
ol Bl 102,433 74,154 28,279
801 aildlbl 102,433 74,154 28,279
01 oyl bl 102,433 74,154 28,279
Ouollgltl 102,433
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